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割り算の筆算の答え
わ ひっ

3けた÷１けた（余
あま

り無
な

し）

商が二けた [2]

 ② ③

④ ⑤ ⑥

⑦ ⑧ ⑨

9 1 7 1 4 1
8 7 2 8 8 5 6 8 9 3 6 9

7 2 5 6 3 6
8 8 9
8 8 9
0 0 0

8 1 9 1 6 1
8 6 4 8 9 8 1 9 8 4 8 8

6 4 8 1 4 8
8 9 8
8 9 8
0 0 0

5 1 5 3 7 1
5 2 5 5 3 1 5 9 9 6 3 9

2 5 1 5 6 3
5 9 9
5 9 9
0 0 0

 ② ③

④ ⑤ ⑥

⑦ ⑧ ⑨

名 前

月 　 日 分 　 秒
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な
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 ② ③

④ ⑤ ⑥

⑦ ⑧ ⑨

8 1 8 1 4 1
9 7 2 9 7 5 6 7 8 3 2 8

7 2 5 6 3 2
9 7 8
9 7 8
0 0 0

7 1 7 3 5 2
7 4 9 7 3 2 1 9 2 1 0 4

4 9 2 1 1 0
7 9 4
7 9 4
0 0 0

6 1 9 1 7 1
9 5 4 9 7 6 3 7 6 4 2 6

5 4 6 3 4 2
9 7 6
9 7 6
0 0 0

 ② ③

④ ⑤ ⑥

⑦ ⑧ ⑨
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3 0 2 4 1 6
5 3 4
5 3 4
0 0 0

9 1 8 1 8 1
6 5 4 6 5 4 0 5 4 3 2 4

5 4 4 0 3 2
6 5 4
6 5 4
0 0 0

8 2 7 1 6 1
3 2 4 6 2 1 4 2 7 4 2 7

2 4 1 4 4 2
6 2 7
6 2 7
0 0 0

 ② ③

④ ⑤ ⑥

⑦ ⑧ ⑨
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